
1.Select the correct mirror image of the given

combination when the mirror is placed at

MN as shown.

दिए गए संयोजन के सही िर्पण प्रतिबबंब का चयन

कीतजए जब िर्पण को MN र्र रखा जािा ह,ै जसैा दक

दिखाया गया ह।ै
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दिए गए संयोजन के सही िर्पण प्रतिबबंब का चयन
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1.Select the correct mirror image of the given

combination when the mirror is placed at MN as

shown.

दिए गए सयंोजन के सही िर्पण प्रतिबबंब का चयन कीतजए

जब िर्पण को MN र्र रखा जािा ह,ै जैसा दक दिखाया गया ह।ै



2.The second number in the given number performing certain

mathematical operation(s) on the first number. The same

operation(s) are followed in all the number pairs except one.

Find that odd number pair.

िी गई संख्या में िसूरी संख्या, र्हली संख्या र्र कुछ गतणिीय संदिया/सदंियाएं 

कर रही ह।ै एक को छोड़कर सभी संख्या युग्मों में समान संदिया/सदंियाओं का 

अनुसरण दकया जािा ह।ै तिषम संख्या युग्म ज्ञाि कीतजए।

a) 47 : 2116 b) 53 : 2703

c) 24 : 528 d) 68 : 4488



3.In a certain code language, 'BASKET' is coded as

'211911520' and 'BOX' is coded as '21524'. How

will 'COVER' be coded in that language?

एक तनतिि कूट भाषा में, 'BASKET' को '211911520' और 

'BOX' को '21524' के रूर् में कूटबद्ध दकया जािा है। उसी कूट 

भाषा में 'COVER' को कैसे कूटबद्ध दकया जाएगा?

a) 31522519 b) 31522518

c) 21522519 d) 31822518



4.In certain code language, 'TRAIN' is written as

'WUDLQ' and 'ROAD' is written as "URDG'. How

will 'TAXI' be written in that language?

एक तनतिि कूट भाषा में, 'TRAIN' को 'WUDLQ' और 

'ROAD' को "URDG' के रूर् में तलखा जािा ह।ै उसी कूट 

भाषा में 'TAXI' को कैसे तलखा जाएगा? 

a) WDAL b) WEAL

c) WDBL d) WFAL



5.The second number in the given number pairs is obtained by

performing certain mathematical operation(s) on the first

number. The same operation(s) are followed in all the number

pairs EXCEPT one. Find that odd number pair.

िी गई संख्या युग्मों में िसूरी संख्या र्हली संख्या र्र कुछ गतणिीय 

संदिया/सदंियाएँ करके प्राप्त की जािी ह।ै एक को छोड़कर सभी संख्या युग्मों में 

समान संदिया/सदंियाओं का अनुसरण दकया जािा ह।ै तिषम संख्या युग्म ज्ञाि 

कीतजए।

a) 48 : 168 b) 52 : 182

c) 26 : 91 d) 34 : 118



6.If 01 March 2012 was Thursday, then was the day of the week

on 01 February 2016?

यदि 01 माचप 2012 को गुरुिार था, िब 01 फरिरी 2016 को सप्ताह का कौन-

सा दिन था?

a) रतििार / Sunday

b) सोमिार / Monday

c) शतनिार / Saturday

d) शुििार / Friday



7.Select the correct combination of mathematical signs to

sequentially replace the* signs and to balance the given

equation.

दिए गए समीकरण को सिंतुलि बनाने के तलए * तचह्नों को ितमक रूर् से

प्रतिस्थातर्ि करने के तलए गतणिीय तचह्नों के सही सयंोजन का चयन कीतजए।

57 * 35 * 7 * 14 * 2 * 43

a) ×, +, ÷, -, = b) +, -, ×, ÷, =

c) +, ÷, -, ×, = d) -, ÷, +, ×, =



8.Select the option that is related to the fifth term

in the same way as the second term is related to

the first term and fourth term related to third term.

उस तिकल्र् का चयन कीतजए जो र्ाँचिें र्ि से उसी प्रकार से

सबंंतिि है तजस प्रकार से िसूरा र्ि, र्हले र्ि से और चौथा

र्ि, िीसरे र्ि से संबंतिि ह।ै

786 : 7 :: 645 : 5 :: 282 : ?

a) 6 b) 5 c) 8 d) 4



9.Select the option that is related to the fifth number in the

same way as the second number is related to the first number

and the fourth number is related to the third number.

उस तिकल्र् का चयन कीतजए जो र्ाचंिीं सखं्या से उसी प्रकार सबंंतिि है तजस

प्रकार िसूरी सखं्या र्हली सखं्या से और चौथी सखं्या िीसरी सखं्या से सबंंतिि

ह।ै

9 : 109 :: 7 : 71 :: 13 : ?

a) 238 b) 229

c) 218 d) 209



10.In a certain code language, 'MATHS' is written

as '13320819' and 'HINDI' is written as

'82714427'. How will 'PHYSICS' be written in that

language"

एक तनतिि कूट भाषा में 'MATHS' को '13320819' और 

'HINDI' को '82714427' के रूर् में तलखा जािा ह।ै उसी कूट 

भाषा में 'PHYSICS' को दकस रूर् में तलखा जाएगा"?

a) 168251928319 b) 168251923319

c) 168251937319 d) 168251927319



11.Which of the following numbers will replace the

question mark(?) in the given series?

तनम्नतलतखि में से कौन सी सखं्या िी गई श्रखंला में प्रश्न तचह्न

(?) को प्रतिस्थातर्ि करेगी?

45, 55, 72, 97, 131, ?

a) 183 b) 189

c) 175 d) 179



12. Select the option that is related to the fourth

term in the same way as the first term is related to

the second term and the fifth term is related to the

sixth term

उस तिकल्र् का चयन कीतजए जो चौथे र्ि से उसी प्रकार

सबंंतिि है तजस प्रकार र्हला र्ि िसूरे र्ि से और र्ाचंिां र्ि

छठे र्ि से संबंतिि ह।ै

8 : 512 :: ? : 1728 :: 18 : 5832

a) 8 b) 14 c) 12 d) 9



13.Select the Venn diagram that best illustrates

the relationship between the following classes.

उस िने आरेख का चयन कीतजए जो तनम्नतलतखि िगों के बीच

के संबंि को सिोत्तम रूर् से िशापिा ह।ै

Hand, Feet, Chin

हाथ, र्ैर, ठोड़ी



14.Select the option that represents the letters that

when sequentially placed from left to right in the

blanks below, will complete the letter series.

उस तिकल्र् का चयन कीतजए जो उन अक्षरों को िशापिा ह,ै तजसे

नीचे दिए गए ररक्त स्थान में ितमक रूर् से बाएं से िाएं रखने

र्र अक्षर-श्रखंला र्ूणप हो जाएगी।

m n _ m n _ o m _ m _ n n o m _ m m _ n o

a) m n n m n n b) o n n m n n

c) m n o m n n d) m n n m o o



15. Select the correct mirror image of the given

combination when the mirror is placed at MN as

shown.

दिए गए सयंोजन के सही िर्पण प्रतिबबंब का चयन कीतजए जब

िर्पण को िशापए अनुसार MN र्र रखा गया ह।ै



16.Which two numbers, from amongst the given

options, should be interchanged to make the given

equation correct?

दिए गए समीकरण को सही बनाने के तलए दिए गए तिकल्र्ों में से

दकन िो संख्याओं को र्रस्र्र बिला जाना चातहए?

15 - 4 + (8 × 6) ÷ 16 + 9 × 3 - 7 = 31

a) 6 and 16 b) 4 and 6

c) 8 and 16 d) 4 and 3



17.If 20 February 2013 was Wednesday, then

what was the day of the week on 28 February

2016?

यदि 20 फरिरी 2013 को बुििार था, िब 28 फरिरी

2016 को सप्ताह का कौन सा दिन था?

a) बुििार / Wednesday

b) रतििार / Sunday

c) सोमिार / Monday

d) शुििार / Friday



18 .Which of the following numbers will replace the

question mark (?) in the given series?

तनम्नतलतखि में से कौन सी सखं्या िी गई शरखंला में प्रश्न तचह्न (?) का

स्थान लेगी

2, 22, 32, 42, 57, 87,162, ?

a) 387

b) 356

c) 365

d) 378



19.A paper is folded and cut as shown. How will

it appear when unfolded?

एक कागज को मोड़ा जािा है और दिखाए गए अनसुार काटा

जािा ह।ै खोलने र्र यह कैसा दिखाई िगेा?



20.Select the figure that will replace the

question mark (?) in the following figure

series.

उस आकर ति का चयन कीतजए जो तनम्नतलतखि आकर ति

श्रंखला में प्रश्निाचक तचह्न (?) को प्रतिस्थातर्ि करेगी।
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